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! — YMHOXKEHHNE JACCATUYHBIX 3HAKOB Ha CTCIIEHb ACCATU

WUms: Jata: ___ Ouenka:___
9,282 x 10000 = 7,601 x 100000 =
6, 685 x 100 = 10, 924 x 100000 =
8, 826 x 100000 = 4,549 x 100 =
4,492 x 1000000 = 1,19 x 100 =
6,074 x 1000 = 4,142 x 1000000 =
9,932 x 10000 = 10,26 x 100 =
5,035 x10= 5,472 x 100 =
9,012 x 1000000 = 6,536 x 10 =
2,506 x 1000000 = 6,239 x 1000 =
1,332 x 1000000 = 9,537 x 1000 =
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l VYMHOXEHHe JCCATHYHBIX 3HAKOB Ha CTCIICHD ACCATU

Pws: Jata: ____ Ouemka:
9,282 x 10000 = 92820 7,601 x 100000 = 760100
6, 685 x 100 = 668.5 10, 924 x 100000 = 1092400
8, 826 x 100000 = 882600 4,549 x 100 = 454.9
4,492 x 1000000 = 4492000 1,19 x 100 =119
6,074 x 1000 = 6074 4, 142 x 1000000 = 4142000
9,932 x 10000 = 99320 10,26 x 100 = 1026
5,035 x 10 =50.35 5,472 x 100 = 547.2
9,012 x 1000000 = 9012000 6,536 x 10 = 65.36
2,506 x 1000000 = 2506000 6,239 x 1000 = 6239
1,332 x 1000000 = 1332000 9,537 x 1000 = 9537
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